
三人称単数現在形 [和訳問題]

＜問題＞
次の英文を日本語に訳しなさい。
(1) Tom grows tomatoes.

トムはトマトを育てます。

(2) He teaches math.

彼は数学を教えます。

(3) She doesn't like baseball.

彼女は野球が好きではありません。

(4) Does Olivia like this book?

オリビアはこの本が好きですか。

(5) She goes to that park every morning.

彼女は毎朝あの公園に行きます。

(6) Does he have a pet?

彼はペットを飼っていますか。

(7) Ken gets up at six.

ケンは 6時に起きます。

(8) He goes to bed at ten.

彼は 10時に寝ます。

(9) My grandfather doesn't read comic books.

私の祖父は漫画を読みません。

(10) Does your father work every day?

あなたの父は毎日働いていますか。

(11) He doesn't have a bike.

彼は自転車を持っていません。

(12) She knows Emily well.

彼女はエミリーをよく知っています。
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